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Stopic 8 continued ...)

Becupfrom last time :
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The eigenvalves & are the

-of det A ne
Lets find the eigenvalves

.

We get
det (A -XI)

= net((8 -
i) - x(bi)
un
-
I

A

= det ((8-i) - (Y))



= det (3j -Y-x)
= (3 - x)(- 1 x) - (0)(8)

= (3 -3)(- - x)

When is det
(A-XF) = 0 ?

When (3-x)(-1-x) = 0.

This when X = 3,
-1 .

The eigenvalues of A
= (8-i)[are x = 3 , -1

Let's find the eigenvectors !

Let's start with X=
-1 .



We need to solve A = - *
-JAv =x

Let v = (g) .↳Need to solve (3 % )(y) = - (Y)

Multiply to get (10) = ()

This is s
This is 4X = 0[8x = 0

(888) (888)



-sitR(0 %

leading
X = 0=tY

Emmary: Solutions
to

[18 -)(5) = - (*)-
Al = - *

are(i)= (i)



So
,
the eigenvectors for x = -1

all have the
form t (9) .

Some example eigenvectors
fur 1 =-

are : Hi,
t = 1 t= - 5

So
,
the eigenspace

E
_
(A) is

E
,

(A) = [t(i))t - RR]
= E(i) , (2) ,

(fs)
, ...
]

Av =-·t&
i = t(i)



What about X = 3T
e need to solve Ar

=3
.

This is Pl
A = 3

Weyet (33) = (3)

misis
This is To8x -4y = 0

This is ↓



X - zY⑳ leading

Solution : y = t

x= y
= =t[(5) = (=) = +(vi)

The eigenvectors corresponding

to x = 3 are
of the form[these solve

i = (y) = t(4y) =[Au = 3 Y

=E(ii) He , Fid ... 3)



eigenspace t = 1Fox= 3
-

↳it
picture
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A stretches the rectors in Eg(A)
by x= 3
-


